
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

The height of the candle y after x hours can be represented by the equation y = 2x + 16. 

A different candle was originally 30 inches but burned at a rate twice as fast as this candle. 

This candle burned out (height reached 0) more quickly than the candle in the table. 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The state of Colorado is shown to the right. The 

shape of Colorado closely resembles a rectangle.  

Part A: Find the approximate area of Colorado. 

Part B: Find the approximate perimeter of 

Colorado. 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Sam has two containers – one shaped like a cone 

and the other shaped like a cylinder. 

Part A: Sam fills the cone-shaped container to the 

top with water. What is the volume of water in 

the cone? Write it as an exact answer. 

Part B: Sam pours all of the water from the cone 

into the cylinder. What will be the height of the 

water in the cylinder? (Which inch mark will it 

reach?) 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Select whether each pair of angles MUST be 

congruent. (Yes or no) For each pair of 

angles that IS congruent, write down which 

type of special angle pair they are.  

A)  6 and 8 

B)  2 and 4 

C)  1 and 6 

D)  2 and 3 

E)  5 and 7 

F)  1 and 7 

 

There is one more pair of angles from the 

diagram that MUST be congruent that is not 

mentioned above. Which pair of angles is 

this? 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

How many triangles are in this diagram??? 


